
Thank you for purchasing the product. Please take time to read and follow the instruction below. 
Check that you have all parts and hardware before assembly. Parts apparently missing are often 
found in the packing materials. If you do not have all the parts listed, have your dealer contact us 
and they will be sent to you immediately. 

Merci d'avoir achete ce produit. Veuillez lire et suivre les instructions ci-dessours. Verifiez avant le 
montage que vous avez toutes les pieces et fixations. Les pieces qui semblent manquer se trouvent 
souvent dans les materiaux d'emballage. Si vous n'avez pas toutes les pieces de la liste, demandez 

a votre detaillant et nous vous les enverrons immediatement. 

A 
It is recommended to install protective pads under all legs and supports to avoid damage or scratches 

- when placing furniture on a wood Door or other hard surcare, and to limit indentation and prevent 
discoloration if placing on carpet. 

A 
II est recommande de placer des coussins protecteurs sous tous les pieds et toutes les bases des meubles 

- pour eviterd' endommager ou d'egrantigner les planchers en bois ou autres surfaces dures, et pour 
limiter l'empreinte et emp@cher la decolorations quand les meubles reposent sur la moquette. 

A Hardware may loosen over time. Periodically check to make sure all connections are tight. Re-tighten if 
- necessary. 

A Le materiel peut se desserrer au f°Il du temps. V erifiez periodiquement que toutes les connexions sont 
a serrees. Serrer a nouveau si necessaire. 

HARDWARE LIST/ LISTE DE QUINCAILLERIE 

No SKETCH/ DESSIN Description 

A 

B 

C 

G tf1> 
H 

Left side/ 
Cote gauche 

Back Rest 
dossier 

LSF Ear 
RSF OREILLE 

Metal Leg/ 
pied en Metal 

Center Support Leg 
/ Support pour 

transverses central 
Side Support Leg 

/ Support pour 
transverses central 

QTY/QTE 

1 

1 

1 

3 

1 

1 

No Drawing/ DESSIN Description 

D 

E ffi 
F 

G 

H 

Right side/ 
Cote gauche 

Back Rest 
dossier 

RSF Ear 
LSF OREILLE 

Metal Leg/ 
pied en Metal 

Center Support Leg 
/ Support pour 

transverses central 
Side Support Leg 

/ Support pour 
transverses central 

MADE IN MALAYSIA / FABRIQUE EN MALAISIE 

QTY/QTE 

1 

1 

1 

3 

1 

1 

No Description Sketch/ Esquisser QTY/QTE 

1 
MB x 30mm Bolt 

� 6 
/ Boulon 

2 
Flat Washer 5/16"

@) 6 
/ rondelle plate 

3 
CSK Screw 

Cmm> B 
M4 x 25mm/ vis 

4 
M5 Allen Key 

� 1 
I Cle allen 

HARDWARE LIST/ LISTE DE QUINCAILLERIE 

No Description Sketch/ Esquisser QTY/QTE 

1 
MB x 30mm Bolt 

� 6 
/ Boulon 

2 
Flat Washer 5/16" 

@) 6 
/ rondelle plate 

3 
CSK Screw 

Cmm> B 
M4 x 25mm / vis 

PAGE 1 OF 4 

ITEM NO : 194S8577GY#SC

ASSEMBLY INSTRUCTION 

INSTRUCTIONS D'ASSEMBLAGE 
 LSF 2-Seater/ Causeuse Gauche 

 RSF Chaise/ Chaise Longue Droite 

194S8577GY- 2L PARTS LIST/ LISTE DE PIECES 

**ABOVE HARDWARE ARE PACKED IN 194S8577GY -2L 

FOR ASSEMBLY/ Le quincaillerie est dans 194S8577GY -2L pour 
!'assemblage. 

194S8577GY - RC PARTS LIST/ LISTE DE PIECES 

•*ABOVE HARDWARE ARE PACKED IN 194S8577GY -RC 

FOR ASSEMBLY/ Le quincaillerie est dans 194S8577GY -RC 
pour !'assemblage. 



(Step 1 /Etape 1) 
LSF 2 Seater / Causeuse Gauche

(Step 2/Etape 2) 
RSF Chaise / Chaise Longue Droite 

1x 

1x 

MADE IN MALAYSIA/ FABRIQUE EN MALAISIE PAGE 2 OF 4 

ASSEMBLY INSTRUCTION 

INSTRUCTIONS D'ASSEMBLAGE 
 LSF 2-Seater/ Causeuse Gauche 

 RSF Chaise/ Chaise Longue Droite 



(Step 3/Etape 3) 
LSF 2 Seater / Causeuse Gauche

/ 

I 

I 

I 

\ 
\ 
' 
' 

(Step 4/Etape 4) 

----

RSF Chaise / Chaise Longue Droite 

----

' 

\ 

\ 
\ 
I 

I 
/ 

/ 

MADE IN MALAYSIA/ FABRIQUE EN MALAISIE PAGE 3 OF 4 

ASSEMBLY INSTRUCTION 

INSTRUCTIONS D'ASSEMBLAGE 
 LSF 2-Seater/ Causeuse Gauche 

 RSF Chaise/ Chaise Longue Droite 



(Step 5/Etape 5) Assembly Completed/ Assemblage Complete 

r - - - - - -

I 

Upholstery Cushion Care I instructions De Soins Pour Meubles Rembourrage 

TOP GRAIN LEATHER MATCH PVC CARE I STRUCTION. 

I STRUCTIO S POUR LES SOINS DU CUIR ET PVC: 

-. A ·oid ex.posing :furniture directly to unlight or heating and arr conditioning outl ts_ 

..- E it rd o r I m ubl aux ra on dir c du oleil ou aux orti d , hal ur et d'air limati .

• Exposure to sunlight or heating and air conditioning outlets will fade/damage top grain leather match P, C.

- E ·t rd' o r 1 m ubl . au rayon dir ct du ol ii ou aux rli d hal ur t d'air climati ·.

• \ ipe gently ,i th a damp oft cloth to remo ·e dust dirt and any buildup.

• Pour nl uy r a e un hiffon doux. 

MADE IN MALAYSIA/ FABRIQUE EN MALAISIE PAGE 4 OF 4 

ASSEMBLY INSTRUCTION 

INSTRUCTIONS D'ASSEMBLAGE 
 LSF 2-Seater/ Causeuse Gauche 

 RSF Chaise/ Chaise Longue Droite 


	8577GY-2L_Page_1
	8577GY-2L_Page_2
	8577GY-2L_Page_3
	8577GY-2L_Page_4



